Solve the problems.

1 Which situation can be represented by
the equation —4 X 5 = —207?

A Jack exercised for 4 hours after
school each day last week.

B The cost of a summer pool pass /

increased $4 each of the last
5 years.

C Amanda earned $4 for each of
5 classes in which she received an A.

D The temperature dropped i
4 degrees each hour for

5 consecutive hours.

2 | In which situation do the quantities
combine to make 07

A Emily ran 3 mileson Saturday and
walked 3 miles on Sunday.

B Beverly bought a chair for $350 and
' sold it 3 years later for $350.

Josh ran 2 laps counterclockwise
around a track and then 2 laps
clockwise around the track.

l_ D Trey deposited $150 into his savings
i account on Friday and withdrew
o $100 the following week.

bk 3 . Which expression is equivalent to

i‘ : : Bl 19 — 27‘)
A 27-19 C 19+ (-27)
B -(19+27) D -19+27
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2 4 ~ Roger makes 70 gallons of pink paint

by mixing 21 gallons of red paint with

49 gallons of white paint.

What part of every gallon is from red

paint?

The model represents one gallon of
mixed paint. :

1.0

0.5

0.0

Shade the correct number of bars to
show how much of a gallon is from

red paint.

The point on the number line shows the

location of —2—12-. Write each expression in

a box to show its correct location on the

number line.

iew ol ﬂ
A I Rl |
51 5] 150 ’
22 ) 22+22 f
_2%
l ¥
et —tt+—t —t >

e e A
P L5 T ]

e
Rt o N LR R et 0y
: e S A v

f W e el v
.y Rt e L I b A e T, o A A
[ b m 3 Z. i e S M T MO i e 2T

O S R T TS o s S

©Curriculum Associates, LLC  Copying is not permitte:d_




¢ 3 bagreg o Rap ogEee
) < WA ST 2O o
’) Py s B SR ) : ot P e e W ¥ i -
HAREA LY -\Jw”}"“\wl““ l‘—if lv"}. D IR MA._A__I’ ki
i[ SRR o Yy oA ey £ A N e (? it s atdindb
s D —

6 Fill in the boxes below with numbers that make the statement true.

+ (—7.28) = a positive number

12 + =0

— 2% = a negative number

—-4.8 - = a positive number

-15+ 15 =

7 Nolan correctly spelled % of his spelling words. How is —1% written as a decimal?

Show your work.

Answer =
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Solve the problems.

Jill always buys the same kind of shampoo
in an 11.5-ounce bottle. She is at the
store buying more and sees that the
bottle is now bigger and has 20% more
for the same price. How many ounces of

shampoo are in the new bottle? !
A 11.5

B 13.8

Cc 173

D 230 :

Mark incorrectly solved the inequality

(5 + -3—x > 8. His work is shown.

_41 >

Part A: Which step shows an error based
on the inequality only from the
previous step? Select all that apply.

A Step1:-10+6x>8
B Step2:6x>8-10
C Step3:6x>-2

D Step4:x>—%

Part B: What is the correct solution to the
original inequality?

_Luke's baseball team went to an

amusement park at the end of the
season. The cost of admission for

5 coaches and 12 players was $407.50.
The admission cost for each coach was
$27.50. What was the admission cost for

each player?

A $22.50
B $23.97
C $27.50
D $31.67

Which scenario represents the expression
4x — 47 Select Yes or No for each scenario.

A Jack earns $4 per hour but owes his
parents $4; x represents the number
of hours he works.

[:IYes l:] No

B  Alexis 4 years older than 4 times
Ava’s age; x represents Ava’s age.

D Yes D No

C A store has a 4% discount on
gloves; Mike bought x pairs of
gloves at $4 a pair.

[:I Yes D No

D Jane bought x number of tickets at
$4 each and had a coupon for $4
off the total cost.

D_Yes D No
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5  Bobby is hanging a cabinet above the washer and dryer in the laundry room. The cabinet
is 3% feet wide and 2 feet tall. If he wants to center the cabinet horizontally on a wall that is
;
6—}‘7 feet wide, how far will the end of the cabinet be from the edge of the wall? é
Show your work.
i
H
Answer ‘
ey |
g
6 Lauren says the two expressions 3x + 4(2x + 5) and 6x + 5x + 5 are equivalent. o5
3
o
Part A £
|
Simplify the expressions to determine whether or not Lauren is correct. il
B
Show your work.
d;
i
' L
Answer
/
Part B X
Substitute a number for the variable to determine whether or not Lauren is correct. ,
i
Show your work. .
y‘l

Answer
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